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2. Let the other number be x 
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3. LCM = 7920 = 24x32x5x11 

GCD = 12 = 22x3 

48 = 24x3 

264 = 23x3x11 

X = 22x32x5 

X = 180 
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4. 
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5. L.C.M =  

2    27      30      45 

3    27      15      45 

3     9        5       15 

3     3        5        5 

5     1        5       5 

       1        1       1 

2x33x5 = 270 

            = 270 + 3 = 273. 

 

 

M1 

 

 

 

 

 

A1 

 

 

LCM 

  02  

 



6.  2    20,   24,  26,    28 

   2    10   12    13    14 

   2      5     6      13    7 

   3      2      3    13     7 

   5       5       1     13    7 

7      1      1     13    7 

   13    1      1    13     1 

            1       1      1      1 

   Size of the land = (2
3
 x 3 x 5 x 7 x 13) + 7) aces 

                    = 10920 + 7     = 10,927 aces 
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    Least volume of x = 2 X 33 x 5 + 21 

                                  = 270 + 21    = 291 

 

8.  L.C.M. of 30, 36 and 45 

  

            2     30      36       45 

            2     15      18       45 

            3     15        9       45 

            3      5        3       15 

            5      5         1        5 

                    1                  1 

 

    L.C.M. = 2
2
 x 3

2
 x 5 = 180 

    The number m = 180 + 7      = 187 
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